ENTERPRISE

CATALOG

WWW.TITANHOMEPRODUCTS.COM | 2080 FLOYD STREET, BURBANK, CA 91504
818.287.0444 | SALES@TITANHOMEPRODUCTS.COM



D\
/A

TABLE OF
CONTENTS

—
-
-5

PAGE 9

SPRINGS

PAGES 10-16

EXTENSION SPRINGS

PAGES 17-18

ANGLES

PAGE 2 WWW.TITANHOMEPRODUCTS.COM



N
/i

TABLE OF
CONTENTS

—
-
-5

PAGES 19-23

RI=VANNINICISWANNID,
PULLEYS

PAGES 24-29

BRACKETS

PAGES 30-36

CABLES

WWW.TITANHOMEPRODUCTS .COM



N
/A

TABLE OF
CONTENTS

—
-
-5

PAGES 37-40

CHAINS

PAGES 41-46

CONES

PAGES 47-49

DOOR HARDWARE

PAGE 4 WWW.TITANHOMEPRODUCTS.COM



TABLE OF
CONTENTS

PAGES 50-52

DRUMS

PAGES 53-54

EXTENSION
HARDWARE

PAGES 55-66

FASTENERS

N
/i

—
-
-5

WWW.TITANHOMEPRODUCTS .COM



TABLE OF
CONTENTS

PAGES 67-68

FORKS AND
PULLEYS

PAGE 69

INCISSWAORYAS

HINGES

N
/i

—
-
O

HARDWARE KITS

PAGE 6

WWW.TITANHOMEPRODUCTS.COM



TABLE OF
CONTENTS

INCISOWIEYAS

LOCKS

PAGES 79-80

MISCELLANEOUS

PAGES 81-83

ROLLERS

[R— ]

—
-
-5

N

/i

ﬁ

WWW.TITANHOMEPRODUCTS .COM



TABLE OF
CONTENTS

PAGES 84-87

SHAFTS

PAGES 88-90

STRUTS

PAGES 91-92

TRACK

N
/i

—
-
-5

WWW.TITANHOMEPRODUCTS .COM



D\
Ja

SPRINGS i |
ANY TYPE s

ANY SIZE

Torsion Sprin gs, Extension Sprin gs. Snakes , Wire

All Wire Sizes - o
0.177 - 0.625

WWWWWWWWWWWWWWWWWWWWWWWW



-
==
O

)
»
7

QHG-160

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 220 End CL

ITAP|

QHG-163

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull190 End DL

ITAP|

QHG-166

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 160 End DL

-
==
O

)
»
7

QHG-161

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 210 End CL

ITAP|

QHG-164

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 180 End DL

ITAP|

QHG-167

HARDWARE | EXTENSION

SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 150 End DL

SPRINGS - EXTENSION SPRINGS

-
==
O

)
»
7

QHG-162

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 200 End DL

ITAP|

QHG-165

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 170 End DL

ITAP|

QHG-168

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 140 End DL

PAGE 10

WWW.TITANHOMEPRODUCTS.COM



-
==
O

)
»
7

QHG-169

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 130 End DL

ITAP|

QHG-172

HARDWARE | EXTENSION

SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 100 End DL

ITAP|

QHG-175

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 70 End DL

-
==
O

)
»
7

QHG-170

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 120 End DL

ITAP|

QHG-173

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 90 End DL

ITAP|

b &

QHG-176

HARDWARE | EXTENSION

SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 220 End CL

SPRINGS - EXTENSION SPRINGS

-
==
O

)
»
7

QHG-171

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 110 End DL

ITAP|

QHG-174

HARDWARE | EXTENSION
SPRINGS

8' High Extension Spring Double
Loops (DL/CL) Pull 80 End DL

ITAP|

QHG-177

HARDWARE | EXTENSION

SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 210 End CL

PAGE 11

WWW.TITANHOMEPRODUCTS.COM



-
==
O

)
»
7

QHG-178

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 200 End DL

ITAP|

QHG-181

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 170 End DL

ITAP|

QHG-184

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 140 End DL

)
»
7

-
==
O

QHG-179

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull190 End DL

ITAP|

QHG-182

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 160 End DL

ITAP|

b &

QHG-185

HARDWARE | EXTENSION

SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 130 End DL

SPRINGS - EXTENSION SPRINGS

)
»
7

-
==
O

QHG-180

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 180 End DL

ITAP|

QHG-183

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 150 End DL

ITAP|

QHG-186

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 120 End DL

PAGE 12

WWW.TITANHOMEPRODUCTS.COM



N
E)
7

-
==
O

QHG-187

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 110 End DL

ITHP!

QHG-190

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 80 End DL

ITHP!

QHG-193

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 50 End DL

QHG-188

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 100 End DL

ITHP!

QHG-191

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 70 End DL

ITHP!

b &

QHG-194

HARDWARE | EXTENSION

SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 40 End DL

SPRINGS - EXTENSION SPRINGS

)

»
7

-
==
O

QHG-189

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 90 End DL

ITHP!

QHG-192

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Double
Loops (DL/CL) Pull 60 End DL

ITHP!

QHG-195

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Open Loops
(OL) Pull 160

PAGE 13

WWW.TITANHOMEPRODUCTS.COM



SPRINGS - EXTENSION SPRINGS

)

)
7

—
==
0

QHG-196

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Open Loops
(OL) Pull 150

N

TR

QHG-199

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Open Loops
(OL) Pull120

ITHP!

QHG-202

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Open Loops
(OL) Pull 90

QHG-197

HARDWARE | EXTENSION

SPRINGS
7' High Extension Spring Open Loops
(OL) Pull140

N

TR

QHG-200

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Open Loops
(OL) Pull110

ITHP!

QHG-203

HARDWARE | EXTENSION

SPRINGS
7' High Extension Spring Open Loops
(OL) Pull 80

ITRP!

HP

QHG-198

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Open Loops
(OL) Pull130

N

TR

QHG-201

HARDWARE | EXTENSION
SPRINGS

7' High Extension Spring Open Loops
(OL) Pull 100

QHG-204

HARDWARE | EXTENSION

SPRINGS

7' High Extension Spring Clipped Ends
(CL) Pull160

PAGE 14

WWW.TITANHOMEPRODUCTS.COM



QHG-205

HARDWARE | EXTENSION

SPRINGS
7' High Extension Spring Clipped Ends
(CL) Pull 150

QHG-208

HARDWARE | EXTENSION

SPRINGS
7' High Extension Spring Clipped Ends
(CL) Pull 120

QHG-211

HARDWARE | EXTENSION

SPRINGS

7' High Extension Spring Clipped Ends
(CL) Pull90

A

QHG-206

HARDWARE | EXTENSION

SPRINGS

7' High Extension Spring Clipped Ends
(CL) Pull 140

QHG-209

HARDWARE | EXTENSION

SPRINGS
7' High Extension Spring Clipped Ends
(CL) Pull110

QHG-212

HARDWARE | EXTENSION

SPRINGS

7' High Extension Spring Clipped Ends

(CL) Pull 80

SPRINGS - EXTENSION SPRINGS

QHG-207

HARDWARE | EXTENSION

SPRINGS

7' High Extension Spring Clipped Ends
(CL) Pull130

QHG-210

HARDWARE | EXTENSION

SPRINGS

7' High Extension Spring Clipped Ends
(CL) Pull100

QHG-213

HARDWARE | EXTENSION
SPRINGS

Sectional Extension Spring 16x7, .218
x1.53" x 29" Taylor Sectional Wound

| cocalOl)

PAGE 15

=005SEtTo7

WWW.TITANHOMEPRODUCTS.COM



SPRINGS - EXTENSION SPRINGS

.. MR L ———_
QHG-218 QHG-219 QHG-220
HARDWARE | EXTENSION HARDWARE | EXTENSION HARDWARE | EXTENSION
SPRINGS SPRINGS SPRINGS
H-Style Extension Spring For One Double Looped Extension Spring Open Looped Extension Spring Open
Piece Door Double Looped Ends 900 (DL) 200 lbs Looped Ends (OL)
and under

QHG-221

HARDWARE | EXTENSION

SPRINGS

Clipped Ends Extension Spring
Clipped Ends (CL) 210 lbs and higher

PAGE 16 WWW.TITANHOMEPRODUCTS.COM



rrlll""""
ceo A

PAN-001

HARDWARE | ANGLES

8'18 GA Perforated Angle.
11/4" x11/4" Galvanized

uit:l,,"" P
0~ \

PAN-004

HARDWARE | ANGLES

10' 14 GA Perforated Angle.
11/4" x11/4" Galvanized

ltttl""" e
M~ \

PAN-007

HARDWARE | ANGLES

10'12 Gauge Perforated Angle.
11/4" x11/4" Galvanized

HARDWARE - ANGLES

rrrralo,"' v
LD~ \

PAN-002

HARDWARE | ANGLES

8'16 GA Perforated Angle.
11/4"x11/4" Galvanized

I’l’ll"""'
M\

PAN-005

HARDWARE | ANGLES

8'13 Gauge Perforated Angle.
11/4"x11/4" Galvanized

Ittl"l""‘ F
0~ \

PAN-008

HARDWARE | ANGLES

10'16 Gauge Perforated Angle.
11/4"x11/4" Galvanized

rrlll""" -
M~ \

PAN-003

HARDWARE | ANGLES

8'14 GA Perforated Angle.
11/4" x11/4" Galvanized

rrd”’l""‘ F;
L~ \

PAN-006

HARDWARE | ANGLES

10 13 Gauge Perforated Angle.
11/4" x11/4" Galvanized

||| :
7

—
= =
o

uﬂt:l,,""‘
D~ \

PAN-009

HARDWARE | ANGLES

8'12 Gauge Perforated Angle.
11/4" x11/4" Galvanized

PAGE 17

WWW.TITANHOMEPRODUCTS.COM



rrlt”"”' o,
ceeA

PAN-010

HARDWARE | ANGLES

10'12 Gauge Perforated Angle.
11/2"x11/2" Galvanized

A0

utrllo,"' -,
L~ \

PAN-013

HARDWARE | ANGLES

8'12 Gauge Perforated Angle.
2" x 2" Galvanized

A0

It!ll'l"" -
0~ \

PAN-016

HARDWARE | ANGLES

8'3" 14 GA Perforated Angle.
11/4"x11/4" Powder Coated White

HARDWARE - ANGLES

b s
0~ \

PAN-011

HARDWARE | ANGLES

8'12 Gauge Perforated Angle.
11/2"x11/2" Galvanized

A0

—

—

"
oA

///
/'F’f
()

PAN-014

HARDWARE | ANGLES

8'3" 12 Gauge Perforated Angle.
11/4" x11/4" Powder Coated Grey

PAN-017

HARDWARE | ANGLES

10'12 Gauge Perforated Angle.
15/8"x 2 3/8" Galvanized

b s
M~ \

PAN-012

HARDWARE | ANGLES

10' 12 Gauge Perforated Angle.
2" x 2" Galvanized

A0

PAN-015

HARDWARE | ANGLES

8'3" 12 Gauge Perforated Angle.
11/4" x11/4" Powder Coated White

PAGE 18

WWW.TITANHOMEPRODUCTS.COM



-~

BRG-001

HARDWARE | BEARINGS
1" Football Bearing

AN

=c
O

FBR-002

HARDWARE | BEARINGS
11/4" UCF Precision Flange Bearing

[THP!

HP

SBR-001

HARDWARE | BEARINGS
1" Steel Bearing

=

HP

BRG-002

HARDWARE | BEARINGS
11/4" Football Bearing

AN

=q
O

FBR-003

HARDWARE | BEARINGS
1" UCFL Precision Flange Bearing

[THP!

HP

SBR-002

HARDWARE | BEARINGS
11/4" Steel Bearing

HARDWARE - BEARINGS AND PLATES

ZI

bl
3

HARDWARE | BEARINGS
1" UCF Precision Flange Bearing

/m\[

HP

—

FBR-004

HARDWARE | BEARINGS
11/4" UCFL Precision Flange Bearing

]/mx

HP

[

BUS-001

HARDWARE | BUSHING
1" Nylon Bushing. 2" O.D.

PAGE 19

WWW.TITANHOMEPRODUCTS.COM



-
==
O

)
»
7

v ‘I

QHG-075

HARDWARE | BUSHING

Nylon bushing for restraint cable
14 GA

ITHP!
p
!
CBS-003

HARDWARE | PLATES

71/2" Center Bearing Support.
8 GA.

ITAP|
S
-
EBP-002

HARDWARE | PLATES

6 5/8" Flat End Bearing Plate.
8 GA

[TRP!
g ’9\
=
AN / y
r 4
— 7
/

CBS-001

HARDWARE | PLATES

3 3/8" Center Bearing Support,
11GA

ITHP!
p
!
CBS-004

HARDWARE | PLATES

71/2" Center Bearing Support,
11/4" Bore, 8 GA.

ITAP|
7 5 @
EBP-004

HARDWARE | PLATES

4 3/8" Commercial End Bearing Plate.
11GA

HARDWARE - BEARINGS AND PLATES

-
==
O

; g (

CBS-002

HARDWARE | PLATES

4 3/8" Center Bearing Support,
11GA

ITAP|
,/m \‘
L
S’
» a»)
EBP-001

HARDWARE | PLATES
55/8" Flat End Bearing Plate.

8 GA
ITAP|
EBP-005

HARDWARE | PLATES

6" Commercial HD End Bearing Plate.
8 GA

PAGE 20

WWW.TITANHOMEPRODUCTS.COM



-
==
O

)
»
7

EBP-006

HARDWARE | PLATES

6" HD End Bearing Plate.
8 GA.

= ffl \\
=>
Ofl/4

EBP-008

HARDWARE | PLATES

71/2" HD End Bearing Flange.
8 GA.

ITAP|
1
fn ;
( i
V- ¥
\ ) i( L
SAP-002

HARDWARE | PLATES

Mini-Resi U.S.A. Spring Anchor Plate.
12 GA.

EBP-007

HARDWARE | PLATES

6" HD End Bearing Plate - 11/4" Bore.

8 GA.

= ffl \\
=>
Ofl/4

EBP-009

HARDWARE | PLATES

71/2" HD EBF -11/4" Bore.
8 GA.

= ffl \\
=>
Ofl/4

SAP-003

HARDWARE | PLATES

Universal Spring Anchor Plate Right
Hand. 8 GA.

HARDWARE - BEARINGS AND PLATES

-
==
O

)
»
7

EBP-003

HARDWARE | PLATES
3 3/8" Light Duty End Bearing Flange.
12 GA.

SAP-001

HARDWARE | PLATES

Notched Spring Anchor Plate.
12 GA.

SAP-004

HARDWARE | PLATES

Universal Spring Anchor Plate Left
Hand. 8 GA.

PAGE 21

WWW.TITANHOMEPRODUCTS.COM



_|>
== E)
Ol|’%

SAP-005

HARDWARE | PLATES

AP-3 600 Anchor Plate.
8 GA.

_|>
== E)
Ol|’%

SPL-001

HARDWARE | PLATES
Splice Plate (7' to 10' H door)

_|>
== E)
Ol|’%

SPL-004

HARDWARE | PLATES
41/2" x11/2" Wide Step Plate

_|>
=il
Ofl/4

SAP-006

HARDWARE | PLATES

Raynor Residential Anchor Plate for
21/4"ID Springs.

_|>
=il
Ofl/4

SPL-002

HARDWARE | PLATES
Splice Plate (9' to 12' H door)

_|>
=il
Ofl/4

SPL-005

HARDWARE | PLATES
3"x11/4" Narrow Step Plate

HARDWARE - BEARINGS AND PLATES

_|>
F= B
ol|7Z

SAP-007

HARDWARE | PLATES

Raynor Commercial Anchor Plate for
31/2"and 51/2" ID Springs.

_|>
F= B
ol|7Z

SPL-003

HARDWARE | PLATES
Splice Plate (11' to 14' H door)

_|>
F= B
ol|7Z

TJP-001

HARDWARE | PLATES

Track Junction Plate for double low
headroom track.

PAGE 22

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - BEARINGS AND PLATES

SFD-002 SFD-003 SFD-004

HARDWARE | PLATES HARDWARE | SPRING HARDWARE | SPRING

Residential Spring Failure Device (left FAILURE DEVICE FAILURE DEVICE

hand wound) Residential Spring Failure Device Commercial Spring Failure Device
(right hand wound) (left-hand wound)

SFD-005

HARDWARE | SPRING
FAILURE DEVICE

Commercial Spring Failure Device
(right-hand wound)

PAGE 23 WWW.TITANHOMEPRODUCTS.COM



BB-001
HARDWARE | BOTTOM
BRACKETS
BB-100 Residential.
13 GA
V4
@, -
\__f i
@
BB-003
HARDWARE | BOTTOM
BRACKETS
RBB-75 Residential.
13 GA
LTF-001 ‘

HARDWARE | BOTTOM
BRACKETS

Low Headroom Top Fixture.
12GA

HARDWARE - BRACKETS

BB-001-BPC

HARDWARE | BOTTOM
BRACKETS

RBB-75 Residential.
13 GA
Black Powder Coated

AARNRN
S

[THP]
BB-004

HARDWARE | BOTTOM
BRACKETS

BB-6 Commercial.
11 GA.

AARNRN
S

ITHP|

SFD-001
HARDWARE | BEARINGS
AND PLATES

Commercial Spring Failure Extension
Bracket. 4 3/8", 5z' and 6" wall offsets.

BB-002

HARDWARE | BOTTOM

BRACKETS

SRBB-50 Residential.
13 GA

AARNRN
S

[TRP|

)
(7. 7

AN

/) W":"/,
/‘51 "Wi

CKP-001

HARDWARE | BOTTOM

BRACKETS
Cable Keeper for 2" Track

AARNRN
S

ITHP|

SSB-001

HARDWARE | BOTTOM
BRACKETS

SBB-2 Stopping 2" Track. Min 66 lbs. Max
2,200 lbs. Min tension 30 lbs. 5" additional
cable needed. Max cable 1/14"

PAGE 24

WWW.TITANHOMEPRODUCTS.COM



SSB-002

HARDWARE | BOTTOM
BRACKETS

SBB-3 Stopping 3" Track. Min 66 lbs. Max
2,200 lbs. Min tension 15 lbs. 5 1/2"
additional cable needed. Max cable 1/14"

ITRP!

-

ANG-001

HARDWARE | JAMB

BRACKETS
19" Vertical Angle

= ffl \\
=i>
Ofl/4

JBB-003

HARDWARE | JAMB

BRACKETS
J-4 Jamb Bracket

SSB-003

HARDWARE | BOTTOM
BRACKETS

SBB-2 Stopping Low Cable Tension 2"
Track. Min 97 lbs. Max 550 lbs. Min tension
5 lbs. 9" additional cable needed. Max

AP

-

JBB-001

HARDWARE | JAMB

BRACKETS
J-1Jamb Bracket

= ffl \\
=i>
Ofl/4

JBB-004

HARDWARE | JAMB

BRACKETS
J-5 Jamb Bracket

HARDWARE - BRACKETS

THP
\\
FBR-001
HARDWARE | FLAG
BRACKET

Universal Slotted Flag Bracket. For
1"-2" thick doors

[THP!
p) : .
Sy
(\/ : 4
JBB-002
HARDWARE | JAMB
BRACKETS
J-3 Jamb Bracket
[THP!
b g
Sy
m
JBB-005
HARDWARE | JAMB
BRACKETS

J-6 Jamb Bracket

PAGE 25

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - BRACKETS

THP W THP
4 ’ 4 ‘. &M
P < ‘
* 4 2 2 2
o
JBB-006 JBB-007 JBB-008
HARDWARE | JAMB HARDWARE | JAMB HARDWARE | JAMB
BRACKETS BRACKETS BRACKETS
J-7 Jamb Bracket J-8 Jamb Bracket J-9 Jamb Bracket
THP W THP
V) y ) \ > V)
) @ = ¢ /; @
= /N . . 2
JBB-009 JBB-010 JBB-011
HARDWARE | JAMB HARDWARE | JAMB HARDWARE | JAMB
BRACKETS BRACKETS BRACKETS
J-10 Jamb Bracket J-11 Jamb Bracket J-12 Jamb Bracket
THP W THP

2 >

JBB-012 JBB-013 OEB-002
HARDWARE | JAMB HARDWARE | JAMB HARDWARE | LH
BRACKETS BRACKETS BRACKET
J-13 Jamb Bracket J-14 Jamb Bracket O&E Low Headroom Bracket

PAGE 26 WWW.TITANHOMEPRODUCTS.COM



=B
7

.V |

ALS-001

HARDWARE | OPERATOR
BRACKETS

Auto Latch Striker.
11/2" slots.

ITAP|

ARB-003

HARDWARE | OPERATOR
BRACKETS

ARB Adjustable Operator Bracket - Zinc. (4)
5/16"-18 bolts, clevis pin and cotter ring
included

MBK-001

HARDWARE | OPERATOR
BRACKETS

T-Rail Mounting Bracket - Galvanized.
Does not include hardware or fasteners.

= ffl \\
=>
Ofl/4

ARB-001

HARDWARE | OPERATOR
BRACKETS

ARB Adjustable Operator Bracket - Half
Hinge - Zinc.(4) 5/16"-18 bolts, clevis pin
and cotter ring included

AP

-

ARB-004

HARDWARE | OPERATOR
BRACKETS

ARB Adjustable Operator Bracke - White.
(4) 5/16"-18 bolts, clevis pin and cotter ring
included

AP

-

MBK-002

HARDWARE | OPERATOR

BRACKETS

T-Rail Mounting Bracket - White. Does
not include hardware or fasteners.

HARDWARE - BRACKETS

= ffl \\
:|:>
<l

ARB-002

HARDWARE | OPERATOR
BRACKETS

ARB Adjustable Operator Bracket - Full
Hinge - Zinc. (4) 5/16"-18 bolts, clevis pin
and cotter ring included

ITRP!

-

IRH-001

HARDWARE | OPERATOR
BRACKETS

Inside Release Handle - Zinc

= ffl \\
:|:>
<l

OEB-001

HARDWARE | OPERATOR
BRACKETS

SS Operator Extension Bracket

PAGE 27

WWW.TITANHOMEPRODUCTS.COM



.‘\
ORB-001
HARDWARE | OPERATOR
BRACKETS

18" ORB Operator Bracket - 12 GA steel.
Clevis pin and cotter ring included.

o
ORB-004

HARDWARE | OPERATOR
BRACKETS

24" ORB Operator Bracket - 12 GA steel.
Clevis pin and cotter ring included.

SCH-001

HARDWARE | OPERATOR

BRACKETS
Sash Chain, #8 - 5' L

.\
‘ \
ORB-002
HARDWARE | OPERATOR
BRACKETS

21" ORB Operator Bracket - 12 GA steel.
Clevis pin and cotter ring included.

ORB-005

HARDWARE | OPERATOR
BRACKETS

Narrow ORB Operator Bracket - White. Fits
21" and 24" sections. Clevis pin and cotter
ring included.

THP!

SHK-001

HARDWARE | OPERATOR

BRACKETS
1/4" x 2 1/2" S-Hook

HARDWARE - BRACKETS

ORB-003

HARDWARE | OPERATOR
BRACKETS

21" ORB Operator Bracket - White. 12 GA
steel. Clevis pin and cotter ring included.

ORB-006

HARDWARE | OPERATOR
BRACKETS

Narrow ORB Operator Bracket. Fits 21" and
24" sections.Clevis pin and cotter ring
included.

—
(‘_‘-\
N
SHK-002
HARDWARE | OPERATOR
BRACKETS

113/16"L x 5/8"W S-Hook, #8

PAGE 28

WWW.TITANHOMEPRODUCTS.COM



ATF-001

HARDWARE | TOP

FIXTURES
16 GA Junior Adjustable Top Fixture

AN

THP

=c
O

ATF-003

HARDWARE | TOP

FIXTURES

12 GA Adjustable Top Fixture -
Commercial

ZI
ITRP

HP

—8

ATF-001-BPC

HARDWARE | TOP

FIXTURES

16 GA Junior Adjustable Top Fixture
Black Powder Coated

HARDWARE - BRACKETS

ATF-002

HARDWARE | TOP

FIXTURES

12 GA Adjustable Top Fixture -
Residential

PAGE 29

WWW.TITANHOMEPRODUCTS.COM



HARDWARE | CABLE

FITTINGS
1/4" Clamp

QHG-009

HARDWARE | CABLE

FITTINGS
1/4" Thimble

_|>
== B
Ol’%%

I
—8

QHG-012

HARDWARE | CABLE

FITTINGS
3/32"-1/8" Thimble

QHG-007

HARDWARE | CABLE

FITTINGS
3/16" Clamp

QHG-010

HARDWARE | CABLE

FITTINGS
3/16" Thimble

[THP!

H

O

SR

QHG-013

HARDWARE | CABLE

FITTINGS
1/4" Stop

HARDWARE - CABLES

HARDWARE | CABLE

FITTINGS
1/8" Clamp

QHG-011

HARDWARE | CABLE

FITTINGS
5/32" Thimble

_.>
==
Ol’%%

I
—8

QHG-014

HARDWARE | CABLE

FITTINGS
3/16" Stop

PAGE 30

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - CABLES

QHG-015 QHG-016 QHG-017

HARDWARE | CABLE HARDWARE | CABLE HARDWARE | CABLE
FITTINGS FITTINGS FITTINGS
5/32" Stop 1/8" Stop 3/32" Stop

ITHP! ITHP! ITHP!

5/ e 5/

QHG-018 QHG-019 QHG-020

HARDWARE | CABLE HARDWARE | CABLE HARDWARE | CABLE
FITTINGS FITTINGS FITTINGS

1/4" Sleeve 3/16" Sleeve 5/32" Sleeve

ITHP! ITHP! ITHP!

g’ y/
QHG-021 QHG-022 SSB-004
HARDWARE | CABLE HARDWARE | CABLE HARDWARE | CABLE
FITTINGS FITTINGS FITTINGS
1/8" Sleeve 3/32" Sleeve BB-5 Outside Hookup - 2" Track -

11 GA, DRILLED PIN,

PAGE 31 WWW.TITANHOMEPRODUCTS.COM



SSB-005

HARDWARE | CABLE

FITTINGS

BB-7 Outside Hookup - 2" Track -
11 GA, DRILLED PIN,

HP

QHG-041

HARDWARE | CABLE

REELS

Premium Cable 500' Reel 1/8" 7 x 19
2,000 lbs

HP

QHG-053

HARDWARE | CABLE

REELS

Left Lay Reel of Cable 1/8" 7 x 19 500"
2,000 lbs

HARDWARE - CABLES

SSB-006

HARDWARE | CABLE

FITTINGS

BB-6 Outside Hookup - 3" Track -
11 GA, DRILLED PIN,

TR

HP

QHG-051

HARDWARE | CABLE

REELS

Left Lay Reel of Cable 3/16" 7 x 19
500' 4,200 lbs

PPN

THP

=q
O

QHG-054

HARDWARE | CABLE

REELS

Left Lay Reel of Cable 1/8" 7 x 19 500"
2,000 lbs

QHG-040

HARDWARE | CABLE

REELS

Premium Cable 500' Reel 5/32" 7 x 19
2,800 lbs

HP

QHG-052

HARDWARE | CABLE

REELS

Left Lay Reel of Cable 5/32" 7 x 19
500'2,800 lbs

TR

H

O

QHG-055

HARDWARE | CABLE

REELS

Reel of Cable 1/4" 7 x 19 500'
7,000 lbs

PAGE 32

WWW.TITANHOMEPRODUCTS.COM



QHG-056

HARDWARE | CABLE

REELS

Reel of Cable 3/16" 7 x 19 500'
4,200 lbs

AN

THP

=c
O

QHG-059

HARDWARE | CABLE

REELS
Reel of Cable 1/8"7x19 500' 2,000
lbs

AN

=c
O

QHG-062

HARDWARE | CABLE

REELS

Reel of Cable 3/32" 7 x 19 500'
1,000 lbs

QHG-057

HARDWARE | CABLE

REELS

Reel of Cable 5/32" 7 x 19 500'
2,800 lbs

AN

]_

—
==
0

QHG-060

HARDWARE | CABLE

REELS
Reel of Cable 1/8" 7 x 7500' 1,700 lbs

[THP!

HP

QHG-023

HARDWARE | CABLES

Stainless Steel Cable 1/8"7x19 9' 6"
Brown | Assemblies

HARDWARE - CABLES

QHG-058

HARDWARE | CABLE

REELS

Reel of Cable 1/8"7x191,000'
2,000 lbs

AN

THP

=c
O

QHG-061

HARDWARE | CABLE

REELS
Reel of Cable 3/32" 7x 7 500' 920 lbs

AN

THP

=c
O

QHG-024

HARDWARE | CABLES

Stainless Steel Cable 1/8"7x19 8' 6"
Black | Assemblies

PAGE 33

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - CABLES

QHG-025 QHG-026 QHG-027
HARDWARE | CABLES HARDWARE | CABLES HARDWARE | CABLES
Stainless Steel Cable 5/32" 7 x 19 500' Stainless Steel Cable 5/32" 7 x 19 250" Stainless Steel Cable 1/8" 7 x 19 500'
2,400 lbs | Reel 2,400 lbs | Reel 1,760 lbs | Reel

ITHP! ITHP! ITHP!

QHG-028 QHG-029 QHG-030
HARDWARE | CABLES HARDWARE | CABLES HARDWARE | CABLES
Stainless Steel Cable 1/8" 7 x 19 250' Premium Cable 500' Reel 1/4" 7 x 19 Premium Cable 500' Reel 3/16" 7 x 19
1,760 lbs | Reel 7,000 lbs 4,200 lbs

ZIN ZIN @

ITRP] ITRP] ITRP]

QHG-031 QHG-032
HARDWARE | CABLES HARDWARE | CABLES HARDWARE | CABLES
Premium Cable 7 x 19 15' 3" Premium Cable 7 x 19 16' 1" Premium Cable 7x1916' 1"
Premium Torsion Cable 1/8" Blue Premium Torsion Cable 3/16" Clear Premium Torsion Cable 5/32" Brown

PAGE 34 WWW.TITANHOMEPRODUCTS.COM



QHG-034

HARDWARE | CABLES

Premium Cable 13'1/8" 7 x 19
Gray | Extension

QHG-037

HARDWARE | CABLES

Premium Cable 8'6"1/8" 7 x7
Black | Torsion

PPN

=c
O

HARDWARE - CABLES

QHG-035

HARDWARE | CABLES

Premium Cable 12'1/8" 7 x 19
Purple | Extension

QHG-038

HARDWARE | CABLES

Premium Cable 9'6"1/8" 7 x 19
Blue | Torsion

QHG-036

HARDWARE | CABLES

Premium Cable 9'6" 1/8" 7 x 7
Green | Torsion

QHG-039

HARDWARE | CABLES

Premium Cable 8'6" 1/8" 7 x 19
Red | Torsion

_|>
F= B
ol|7Z

QHG-042

HARDWARE | CABLES

Cable Assemblies 3/32"7x710' 0"
White | Restraint Cables 7' & 8' H

QHG-043

HARDWARE | CABLES

Cable Assemblies 1/8"7x 19 13' 0"
Gray | 7' H & 8' H Extension Spring
Doors

QHG-044

HARDWARE | CABLES

Cable Assemblies 1/8"7 x7 13' 0"
Yellow | 7' H & 8' H Extension Spring
Doors

PAGE 35

WWW.TITANHOMEPRODUCTS.COM



_|>
== E)
Ol|’%

QHG-045

HARDWARE | CABLES
Cable Assemblies 1/8" 7 x 19 12' O"
Purple | 7' H & 8' H Extension Spring
Doors

_|>
== E)
Ol|’%

QHG-048

HARDWARE | CABLES
Cable Assemblies 1/8"7x79' 6"

Green|7'H & 8'H Torsion Spring
Doors

HARDWARE - CABLES

QHG-046

HARDWARE | CABLES
Cable Assemblies 1/8" 7 x 7 12' 0"
Orange | 7' H & 8' H Extension Spring
Doors

QHG-049

HARDWARE | CABLES

Cable Assemblies 1/8" 7x 19 8' 6"
Red | 7'H & 8' H Torsion Spring Doors

QHG-047

HARDWARE | CABLES

Cable Assemblies 1/8"7x19 9' 6"
Blue | 7' H & 8' H Torsion Spring Doors

QHG-050

HARDWARE | CABLES

Cable Assemblies 1/8"7x7 8'6"
Black | 7' H & 8' H Torsion Spring
Doors

PAGE 36

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - CHAINS

ThP| [TRP] ThP|

CHT-001 CHT-002 CHT-003
HARDWARE | CHAIN HARDWARE | CHAIN HARDWARE | CHAIN
HOISTS HOISTS HOISTS
Disconnect Chain Hoist - 1" Bore - 2000 R Chain Hoist - 1" Shaft - 2000 R Chain Hoist -1 1/4" Shaft -
Sectional Doors Sectional Doors Sectional Doors

®
I,‘ &
) @ ¥ ’e
CHT-004 CHT-005 CHT-006
HARDWARE | CHAIN HARDWARE | CHAIN HARDWARE | CHAIN
HOISTS HOISTS HOISTS
Model 200 D Chain Hoist - 1" Shaft - Model 2000 D Chain Hoist - 1" Shaft - J.R.G. V2 Chain Hoist - 1" Shaft -
Sectional Doors Sectional Doors Sectional Doors

° ! . | ®
-.'—-:.n ) L N\ g i

CHT-007 CHT-008 CHT-009
HARDWARE | CHAIN HARDWARE | CHAIN HARDWARE | CHAIN
HOISTS HOISTS HOISTS
J.R.G. V2 Chain Hoist - 1.25" Shaft - J.R. Chain Hoist - 1" Shaft - Sectional J.R. Chain Hoist - 1.25" Shaft -
Sectional Doors Doors Sectional Doors

PAGE 37 WWW.TITANHOMEPRODUCTS.COM



_‘>
B
Oll7Z

—

L/ 4
CHT-010

HARDWARE | CHAIN
HOISTS

Hand Chain Tensioner - Sectional or
Rolling Steel Doors

_|>
e B
o|l7Z

CHT-013

HARDWARE | CHAIN
HOISTS

RDRG Chain Hoist Basic Kit for Rolling
Door - Rolling Steel Doors

)

)

v,
fm

ITHR!

- e Y .o, G

- < —= \_,\\\{
GHC-001
HARDWARE | CHAIN
PARTS

Galvanized Hand Chain - 26'

CHT-011

HARDWARE | CHAIN
HOISTS

2000R-OM Wall Mount Chain Hoist -

Rolling Steel Doors

CHT-014

HARDWARE | CHAIN
HOISTS

RDR Chain Hoist Basic Kit - Rolling
Steel Doors

_|>
e B
o|l7Z

JSS-001

HARDWARE | CHAIN

PARTS
Jack Shaft Sprocket - 1" Bore

HARDWARE - CHAINS

_|>
4 B
-] VA

CHT-012

HARDWARE | CHAIN
HOISTS

RDD180 Stationary Chain Guide -
Rolling Steel Doors

_|>
==
O|l%%

CHK-001

HARDWARE | CHAIN
PARTS

Chain Keeper. 36 Tooth Sprocket, #41
chain. 1/4" keyway. 2 set screws included.

_|>
==
O|l%%

JSS-002

HARDWARE | CHAIN

PARTS

Jack Shaft Sprocket 11/4" Bore.
1/4" keyway. 2 set screws included.

PAGE 38

WWW.TITANHOMEPRODUCTS.COM



L L

HP

MLK-001 MLK-002

HARDWARE | CHAIN HARDWARE | CHAIN

PARTS PARTS
#40 Master Link #41 Master Link

ITRP] ITRP]

\'3% @

MLK-004 OLK-001

HARDWARE | CHAIN HARDWARE | CHAIN

PARTS PARTS
#50 Master Link #40 1/2 Offset Link

ITHP! ITHP!

OLK-003 OLK-004

HARDWARE | CHAIN HARDWARE | CHAIN

PARTS PARTS
#48 (#65) 1/2 Offset Link #50 1/2 Offset Link

HARDWARE - CHAINS

MLK-003

HARDWARE | CHAIN

PARTS
#48 Master Link

]/mx

HP

—8

OLK-002

HARDWARE | CHAIN

PARTS
#411/2 Offset Link

ITHP!

y. -

RCB-001

HARDWARE | CHAIN

PARTS

Roller Chain Breaker. 25-60 chain
sizes.

PAGE 39

WWW.TITANHOMEPRODUCTS.COM



)
7

—
==
0

RCH-001

HARDWARE | CHAIN

PARTS
#40 Roller Chain, 1/2" Pitch, 5/16"W

_|>
e B
o|l7Z

e T o= e

RCH-003

HARDWARE | CHAIN

PARTS
#48 Roller Chain, 1/2" Pitch, 1/8"W

RCH-001

HARDWARE | CHAIN

PARTS
Roller Chain Holder for 35-60 chain
sizes.

_|>
e B
o|l7Z

RCH-004

HARDWARE | CHAIN

PARTS
#50 Roller Chain, 5/8" Pitch, 3/8"W

HARDWARE - CHAINS

)

)
7

—
==
0

RCH-002

HARDWARE | CHAIN

PARTS
#41 Roller Chain, 1/2" Pitch, 1/4"W

PAGE 40

WWW.TITANHOMEPRODUCTS.COM



QHG-149

HARDWARE | CONE
COVER

Cone Cover. Restricts access to winding
holes and set screws on 13/4" and 2"
fittings

ITRP!

HP

oy

{

e

-

L
R
-
QHG-150

HARDWARE | CONE SET

6" RW Winding and Stationary Cone
Set-1"Bore (5/8" winding bar fit).
Max Wire .4375.

ITHP!

QHG-153

HARDWARE | CONE SET
6" LW Winding and Stationary Cone
Set-11/4" Bore (5/8" winding bar fit).
Max Wire .4375.

HARDWARE - CONES

QHG-147

HARDWARE | CONE KIT
71/4" Triplex 2-pc Spring Kit 1 1/4"
Bore (5/8" winding bar fit). Max Wire
.4375.

_|>
=il
Ofl/4

Q&'
1

/i
i

by

L
R
-
QHG-151

HARDWARE | CONE SET
6" RW Winding and Stationary Cone
Set-11/4" Bore (5/8" winding bar fit).
Max Wire .4375.

ITHP!

'@‘ & >
New Ty
= / 2%’ e, s 4

QHG-154

HARDWARE | CONE SET

3 3/8" 2-pc cone, Red - OHD (5/8"
winding bar fit). Max Wire .375.

—
==
0

QHG-148

HARDWARE | CONE KIT
71/4" Triplex 2-pc Spring Kit (5/8"
winding bar fit). Max Wire .4375.

_|>
F= B
ol|7Z

58 &
o2 &2

QHG-152

HARDWARE | CONE SET

6" LW Winding and Stationary Cone
Set - 1" Bore (5/8" winding bar fit).
Max Wire .4375.

ITHP!

QHG-155

HARDWARE | CONE SET

3 3/8" 2-pc cone, Red - OHD (5/8"
winding bar fit). Max Wire .375.

PAGE 41

WWW.TITANHOMEPRODUCTS.COM



il
T
: -
WHeW ==
4 -
QHG-156

HARDWARE | CONE SET
3 3/4" 2-pc Cone Set (5/8" winding bar
fit. Max Wire .4062.

ITRP/
g «(..h’»“f —® -
G TR
QHG-159

HARDWARE | CONE SET
13/4" 2-pc Cone Set (1/2" winding bar
fit). Max wire .295

_|>
== E)
Ol|’%

QHG-157

HARDWARE | CONE SET
2" 2-pc Cone Set (1/2" winding bar fit).
Max Wire .3065.

A

)

7
A

QHG-131

HARDWARE |
STATIONARY CONE

3 3/4" RW Short Ear Duplex Stationary
Cone (5/8" winding bar fit), Max wire .4062

_|>
=il
Ofl/4

HARDWARE - CONES

ITHP!
b S
QHG-158

HARDWARE | CONE SET
2 5/8" 2-pc Cone Set (1/2 winding bar
fit). Max Wire .331.

_|>
F= B
ol|7Z

QHG-132

HARDWARE |

STATIONARY CONE

7 5/8" RW Stationary Cone - OHD
(3/4" winding bar fit). Max Wire .500

ITHP!

QHG-133

HARDWARE |

STATIONARY CONE

75/8" LW Stationary Cone - OHD (3/4"
winding bar fit). Max Wire .500

QHG-134

HARDWARE |
STATIONARY CONE

6" RW Stationary Cone (5/8" winding

bar fit). Max Wire .4375

QHG-135

HARDWARE |

STATIONARY CONE

6" LW Stationary Cone (5/8" winding
bar fit). Max Wire .4375

PAGE 42

WWW.TITANHOMEPRODUCTS.COM



-
==
O

)
»
7

QHG-136

HARDWARE |

STATIONARY CONE

57/8" RW Stationary Cone - OHD
(5/8" winding bar fit). Max Wire .453

)

TP

NO IMAGE
FOUND

QHG-139

HARDWARE |

STATIONARY CONE

51/2" RW Stationary Cone
(3/4" winding bar fit). Max Wire .4375

ITAP|
Y
Y ; ¥
4 & =
QHG-142
HARDWARE |
STATIONARY CONE

31/2" RW Stationary Cone
(5/8" winding bar fit). Max Wire .4375

QHG-137

HARDWARE |

STATIONARY CONE

57/8" LW Stationary Cone - OHD (5/8"
winding bar fit). Max Wire .453

)

TP

QHG-140

HARDWARE |
STATIONARY CONE

3 3/4" stationary cone (5/8" winding
bar fit). Max Wire .4062

ITAP|
Y
Y ; ¥
4 & =
QHG-143
HARDWARE |
STATIONARY CONE

31/2" LW Stationary Cone
(5/8" winding bar fit). Max Wire .4375

HARDWARE - CONES

QHG-138

HARDWARE |

STATIONARY CONE
51/4" Stationary Cone (5/8" winding
bar fit). Max Wire .4375

)

TP

QHG-141

HARDWARE |
STATIONARY CONE

3 3/4" LW Short Ear Duplex Stationary
Cone (5/8" winding bar fit). Max Wire .4062

i

-
==
O

= - .’ o

QHG-144

HARDWARE |
STATIONARY CONE

2" stationary cone (1/2" winding bar
fit). Max Wire .3065

PAGE 43

WWW.TITANHOMEPRODUCTS.COM



QHG-145

HARDWARE |

STATIONARY CONE

2 5/8" Stationary cone (1/2 winding
bar fit). Max Wire .331

HARDWARE - CONES

QHG-146

HARDWARE |

STATIONARY CONE
13/4" stationary cone (1/2" winding
bar fit). Max Wire .295.

il

HP

QHG-106

HARDWARE | WINDING

CONES

75/8" RW Winding Cone - OHD 11/4
(3/4" winding bar fit), Max wire .500

ZI

P

—
==

QHG-107

HARDWARE | WINDING

CONES

75/8" RW Winding Cone - OHD (3/4"
winding bar fit), Max wire .500

ZI

—
==
0

QHG-110

HARDWARE | WINDING

CONES
6" RW Winding Cone (5/8" winding bar
fit), Max wire .4375

QHG-108

HARDWARE | WINDING

CONES

75/8" LW Winding Cone - OHD 11/4
(3/4" winding bar fit), Max wire .500

=

HP

QHG-111

HARDWARE | WINDING

CONES
6" RW Winding Cone -1 1/4 Bore (5/8"
winding bar fit), Max wire .4375

QHG-109

HARDWARE | WINDING

CONES

75/8" LW Winding Cone - OHD (3/4"
winding bar fit), Max wire .500

HARDWARE | WINDING

CONES
6" LW Winding Cone (5/8" winding bar
fit), Max wire .4375

PAGE 44

WWW.TITANHOMEPRODUCTS.COM



QHG-113

HARDWARE | WINDING
CONES

6" LW Winding Cone - 11/4 Bore (5/8"
winding bar fit), Max wire .4375

)

-
==
O

HARDWARE - CONES

QHG-114

HARDWARE | WINDING

CONES

57/8" RW Winding Cone - OHD (5/8"
winding bar fit), Max wire .453

B
[THP!

QHG-115

HARDWARE | WINDING

CONES

57/8" RW Winding Cone -11/4" Bore
(5/8" winding bar fit), Max wire .453

B
[THP!

THP

QHG-116

HARDWARE | WINDING
CONES

57/8" LW Winding Cone - OHD (5/8"
winding bar fit), Max wire .453

QHG-117

HARDWARE | WINDING
CONES

57/8" LW Winding Cone - 11/4 Bore
(5/8" winding bar fit), Max wire .453

QHG-119

HARDWARE | WINDING
CONES

QHG-120

HARDWARE | WINDING
CONES

QHG-118

HARDWARE | WINDING

CONES
51/4" Winding Cone (5/8" winding bar
fit), Max wire .4375

= ffl \\
:>
<l

QHG-121

HARDWARE | WINDING
CONES

51/2" LW Winding Cone - Raynor (3/4"

51/2" LW Winding Cone - Raynor (3/4"
winding bar fit), Max wire .4375

51/2" RW Winding Cone - Raynor
winding bar fit), Max wire .4375

(3/4" winding bar fit), Max wire .4375

PAGE 45 WWW.TITANHOMEPRODUCTS.COM



QHG-122

HARDWARE | WINDING

CONES

3 3/4" winding cone 11/4" Bore (5/8"
winding bar fit), Max wire .4062

HARDWARE - CONES

QHG-123

HARDWARE | WINDING
CONES

3 3/4" winding cone (5/8" winding bar
fit), Max wire .4062

QHG-124

HARDWARE | WINDING
CONES

31/2" RW Winding Cone - Raynor
(5/8" winding bar fit), Max wire .4375

QHG-125

HARDWARE | WINDING
CONES

3 1/2" LW Winding Cone - Raynor (5/8"
winding bar fit), Max wire .4375

QHG-128

HARDWARE | WINDING
CONES

2 1/4" RW 2-pc Cone Set (1/2 winding
bar fit), Max wire .3125

QHG-126

HARDWARE | WINDING
CONES

2" winding cone (1/2" winding bar fit),
Max wire .3065

QHG-127

HARDWARE | WINDING
CONES

2 5/8" winding cone (1/2 winding bar
fit), Max wire .331

QHG-129

HARDWARE | WINDING
CONES

21/4" LW 2-pc Cone Set (1/2 winding

bar fit), Max wire .3125

QHG-130

HARDWARE | WINDING
CONES

1 3/4" winding cone (1/2" winding bar
fit), Max wire .295

PAGE 46

WWW.TITANHOMEPRODUCTS.COM



ITHP]
W
BSP-001

HARDWARE | DOOR
HARDWARE

Push Down Bumper Spring - 15" with 6"
Travel. 12 gauge bracket for 3/8" bolts.

_|>
e B
o|l7Z

BSP-004

HARDWARE | DOOR
HARDWARE

Leaf Bumper Spring. Includes
mounting bracket and hardware.

_|>
e B
o|l7Z

LHK-001

HARDWARE | DOOR
HARDWARE

EZ Low Headroom Kit

ool
< ‘i -
)//‘““ ol
BSP-002
HARDWARE | DOOR
HARDWARE

Push-Down Bumper Spring - 27" with 15"

Travel. 12 gauge bracket for 3/8" bolts.

)

)

v,
fm

KHL-001

HARDWARE | DOOR

HARDWARE
3 1/2" Flexible Magnetic Keyhole

ITHP!

MCL-001

HARDWARE | DOOR

HARDWARE
13/4" Magnetic Clavos

HARDWARE - DOOR HARDWARE

il H H
= - aw

BSP-003

HARDWARE | DOOR

HARDWARE

Quiet Push-Down Bumper Spring - 27" with
15" Travel. 12 gauge bracket for 3/8" bolts.

ITHP!
y”
iy “ .l
7
-~
LHB-001

HARDWARE | DOOR
HARDWARE

Super Sneaky Low Headroom
Top Brackets

_|>
==
O|l%%

MDL-001

HARDWARE | DOOR

HARDWARE

1/4" x 96" Flexible Magnetic Dividing
Line

PAGE 47

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - DOOR HARDWARE

_‘>
== E)
Oll|’%

123

MHN-003

HARDWARE | DOOR
HARDWARE

5" Flexible Magnetic Numbers

_|>
== E)
Ol|’%

¢ o

CLH-625-001-BLK

HARDWARE | HANDLES

6 1/4" Colonial Cast Iron Lift Handle -

Black. Fasteners not included.

_|>
== E)
Ol|’%

CLH-718-001-BLK

HARDWARE | HANDLES

71/8" Spear Cast Iron Lift Handle -
Black. Fasteners not included.

QCF-001

HARDWARE | DOOR
HARDWARE

Quick Close Fixture

_|>
=il
Ofl/4

- —

CLH-7-001-BLK

HARDWARE | HANDLES

7" Colonial Lift Handle - Black.
Fasteners not included.

_|>
=il
Ofl/4

CLH-725-001-BLK

HARDWARE | HANDLES

7 1/4" Fleur De Lis Cast Iron Lift
Handle - Black. Fasteners not
included.

_|>
=f>
o[£

STD-001

HARDWARE | DOOR

HARDWARE
Stick On Studs, 5/16"W

_|>
F= B
ol|7Z

LFH-001

HARDWARE | HANDLES
Lift Handle. Closed Grip.

_|>
F= B
ol|7Z

< o

CLH-875-001-BLK

HARDWARE | HANDLES

8 3/4" Spear Lift Handle - Black.
Fasteners not included.

PAGE 48

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - DOOR HARDWARE

ITHP! ITHP! ITHP!
3
CPL-1125-001-BLK CPL-9-001-BLK MPH-001

HARDWARE | HANDLES

HARDWARE | HANDLES
11 1/4" Spear Pull Handle - Black.

HARDWARE | HANDLES

9" Colonial Pull Handle - Black. 11" Magnetic Escutcheon Plate
Fasteners not included. Fasteners not included. Handle
ITRP/ ITRP/ ITRP/

Y
MSP-001 CPL-10-001-BLK

CPL-10-002-BLK
HARDWARE | HANDLES

HARDWARE | PULLS HARDWARE | PULLS
12" Magnetic Spade Handles 10" Spear Cast Iron Pull - Black. 10" Fleur De Lis Cast Iron Pull - Black.
Fasteners not included. Fasteners not included.

ITRP! ITRP! ITRP!
NS

CPL-9-002-BLK

MPR-001

DST-001-BLK
HARDWARE | PULLS HARDWARE | PULLS HARDWARE | STUDS
9" Colonial Cast Iron Pull - Black.

4" Magnetic Ring Pull Door Studs - Black
Fasteners not included.

PAGE 49

WWW.TITANHOMEPRODUCTS.COM



_|>
== B
ol|7Z

I
—8

QHG_081

HARDWARE | DRUMS

(28'") Vertical Lift 1 1/4" Bore..
Max 1/4" Cable, 1,100 lbs per drum.

_|>
== B
ol|7Z

I
—8

QHG_084

HARDWARE | DRUMS

(18') Vertical Lift Cable Drums.
Max 3/16" Cable, 660 lbs per drum.

—
==
0

I
—8

HARDWARE - DRUMS

_|>
== B
ofl|7Z

I
—8

QHG_082

HARDWARE | DRUMS

(28'") Vertical Lift Cable Drums.
Max 1/4" Cable, 1,100 ls per drum.

bl

H

O

QHG_085

HARDWARE | DRUMS

(11" Vertical Lift Cable Drums.
Max 3/16" Cable, 425 lbs per drum.

—
==
0

_|>
== B
ofl|7Z

I
—8

QHG_083

HARDWARE | DRUMS

(18'") Vertical Lift 1 1/4" Bore.
Max 3/16" Cable, 660 lbs per drum.

_|>
== B
ofl|7Z

I
—8

QHG_086

HARDWARE | DRUMS

Hi-Lift 1 1/4 Bore Cable Drumes.
Max 120", Max 1/4" Cable, Max 1,100
lbs per drum.

QHG_087

HARDWARE | DRUMS

Hi-Lift Cable Drums. Max 120",
Max 1/4" Cable. Max 1.100 lbs per
drum.

QHG_088

HARDWARE | DRUMS

Hi-Lift 1 1/4 Bore Cable Drums.
Max 164", Max 1/4" Cable, Max 800
lbs per drum.

QHG_089

HARDWARE | DRUMS

Hi-Lift Cable Drums. Max 164",
Max 1/4" Cable. Max 800 lbs per
drum.

PAGE 50

WWW.TITANHOMEPRODUCTS.COM



QHG_090

HARDWARE | DRUMS
Hi-Lift 1 1/4 Bore Cable Drums.

Max 120", Max 3/16" Cable, Max 500

lbs per drum.

—
==
0

I
—8

HARDWARE - DRUMS

QHG_091

HARDWARE | DRUMS

Hi-Lift Cable Drums. Max 120",
Max 3/16" Cable. Max 500 lbs per
drum.

QHG_092

HARDWARE | DRUMS
Hi-Lift 1 1/4 Bore Cable Drums.
Max 54", Max 3/16" Cable, Max 500
lbs per drum.

QHG_093

HARDWARE | DRUMS

Hi-Lift Cable Drums. Max 54",
Max 3/16" Cable. Max 500 lbs per
drum.

QHG_096

HARDWARE | DRUMS
(32') Standard Lift Cable Drums

QHG_094

HARDWARE | DRUMS

Hi-Lift Cable Drums. Max 54",
Max 5/32" Cable. Max 275 lbs per
drum.

ZIN
——

HP

—

QHG_097

HARDWARE | DRUMS

(19'-3") Standard Lift 11/4" Bore Cable
Drums

QHG_095

HARDWARE | DRUMS

(32') Standard Lift 11/4" Bore Cable
Drums

QHG_098

HARDWARE | DRUMS
(19'-3") Standard Lift Cable Drums

PAGE 51

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - DRUMS

QHG_099 QHG_100
HARDWARE | DRUMS HARDWARE | DRUMS
(12") Standard Lift Cable Drums (8') Standard Lift Cable Drums

PAGE 52 WWW.TITANHOMEPRODUCTS.COM



)

»
7

—
==
0

ESC-001

HARDWARE | EXTENSION
HARDWARE

Small Extension Spring Clip for up to
11/2" ID springs.

N

ITHP!

ESC-004

HARDWARE | EXTENSION
HARDWARE

Wide Extension Clip for one piece
door

)

o~
ESC-002
HARDWARE | EXTENSION
HARDWARE

Large Extension Spring Clip for
11/2"-21/2" 1D springs.

ITHP!

ESC-005

HARDWARE | EXTENSION
HARDWARE

Wide Extension Clip with Hole for one
piece door

KNK-001

HARDWARE | EXTENSION
HARDWARE

Lion Head Knocker - Black.
Fasteners not included.

KNK-002

HARDWARE | EXTENSION
HARDWARE

Fleur De Lis Knocker - Black.
Fasteners not included.

HARDWARE - EXTENSION HARDWARE

el

4 /
ESC-003
HARDWARE | EXTENSION
HARDWARE

Extra Large Extension Spring Clip for
21/2"- 4" ID springs.

ITHP!

HNS-001

HARDWARE | EXTENSION

HARDWARE

8" Fleur De Lis Handle Set -Black.
Fasteners not included.

_|>
F= B
ol|7Z

SCR-001

HARDWARE | EXTENSION

HARDWARE

#8 x 1/2" Pan Head Sheet Metal
Screw. Textured Finish.

PAGE 53

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - EXTENSION HARDWARE

P T

HP

7

4

SCR-002 SCR-003
HARDWARE | EXTENSION HARDWARE | EXTENSION
HARDWARE HARDWARE
De#6 x 1" Oval Wood Screw (Phillips) #6 x 3/4" Oval Sheet Metal Screw
scription (Phillips)

PAGE 54 WWW.TITANHOMEPRODUCTS.COM



-
==
O

k.
3
FST-038

HARDWARE | BOLTS

1/4" Bolt w/7/16" Head Hex Head Bolt
Full Thread.1/4" 20 x 3/4" (1,000
pieces)

[THP!

HP

‘Mlln"v.r,‘,'”,__ W
" Ll dd!a)
pl ”‘\ﬂi\’fj YA .Mk
FST-041

HARDWARE | BOLTS

1/4" Bolt w/7/16" Head Hex Head Bolt
Full Thread.1/4" 20 x 1" (250 pieces)

[TRP!
=3
' 9
o e o
» \"
FST-044

HARDWARE | BOLTS

5/16" Bolt w/ 1/2" Head Hex Head Bolt
Full Thread.5/16" 18 x 1"
(1,000 pieces)

HARDWARE -

‘ilulu’ vy AT i

] 'y
L UV VYN A .M“‘
FST-039

HARDWARE | BOLTS

1/4" Bolt w/7/16" Head Hex Head Bolt
Full Thread.1/4" 20 x 3/4" (250 pieces)

FST-042

HARDWARE | BOLTS

5/16" Bolt w/ 1/2" Head Hex Head Bolt
Full Thread.5/16" 18 x 3/4"
(1,000 pieces)

HP

FST-045

HARDWARE | BOLTS

5/16" Bolt w/ 1/2" Head Hex Head Bolt
Full Thread.5/16" 18 x 1" (250 pieces)

FASTENER

ITAP|
<
1 %
-\t
FST-040

HARDWARE | BOLTS

1/4" Bolt w/7/16" Head Hex Head Bolt
Full Thread.1/4" 20 x 1" (1,000 pieces)

[THP!

HP

‘uu..'., ./.‘r.n';’ 44
’ bl ' 4 4
e ”fua‘.,’u\j“-...’ s .M‘

FST-043

HARDWARE | BOLTS

5/16" Bolt w/ 1/2" Head Hex Head Bolt
Full Thread.5/16" 18 x 3/4"
(250 pieces)

[THP!

HP

‘. ST
-
S—

FST-046

HARDWARE | BOLTS

3/8" Bolt w/ 9/16" Hex Head Bolt Full
Thread.3/8" 16 x 3/4" (1,000 pieces)

PAGE 55

WWW.TITANHOMEPRODUCTS.COM



—
==
0

FST-047

HARDWARE | BOLTS

3/8" Bolt w/ 9/16" Hex Head Bolt Full
Thread.3/8" 16 x 3/4" (250 pieces)

_|>
== E)
ol

FST-050

HARDWARE | BOLTS

3/8" Bolt w/ 9/16" Hex Head Bolt Full
Thread.3/8" 16 x 1 3/4" (1,000 pieces)

_|>
== E)
ol

FST-059

HARDWARE | BOLTS

Round Carriage Bolt 5/16" 18 x 3/4"
(250 pieces)

HARDWARE - FASTENER

THP
e \
e W
x‘\‘\y"
FST-048

HARDWARE | BOLTS

3/8" Bolt w/ 9/16" Hex Head Bolt Full
Thread.3/8" 16 x 1 1/2" (1,000 pieces)

_|>
=il
Ofl/4

FST-051

HARDWARE | BOLTS

3/8" Bolt w/ 9/16" Hex Head Bolt Full
Thread.3/8" (16 x 1 3/4" (250 pieces)

_|>
=il
Ofl/4

FST-060

HARDWARE | BOLTS

Round Carriage Bolt 3/8" 16 x 1"
(1,000 pieces)

2A0R
[THP
YWV o
' [ LYY Y Y YY
”Q‘.‘ﬁ@’*\ 1
\ -_‘a’df\ 28
FST-049

HARDWARE | BOLTS

3/8" Bolt w/ 9/16" Hex Head Bolt Full
Thread.3/8" 16 x 1 1/2" (250 pieces)

_|>
F= B
ol|7Z

FST-058

HARDWARE | BOLTS

Round Carriage Bolt 5/16" 18 x 3/4"
(1,000 pieces)

ITRP]
Y Sk

HARDWARE | BOLTS

Round Carriage Bolt 3/8" 16 x 1"
(250 pieces)

PAGE 56

WWW.TITANHOMEPRODUCTS.COM



_'>
= B)
oli7Z

FST-062

HARDWARE | BOLTS

Flat Carriage Bolt 1/4" 20 x17/8"
(1,000 pieces)

_'>
= B)
oli7Z

FST-065

HARDWARE | BOLTS

Flat Carriage Bolt 1/4" 20 x 2 1/4" (250
pieces)

_'>
= B)
oli7Z

FST-068

HARDWARE | BOLTS

Track Bolt Slotted 1/4" 20 x 5/8"
(1,000 pieces)

HARDWARE - FASTENER

AN

)

v,
A

FST-063

HARDWARE | BOLTS

Flat Carriage Bolt 1/4"20 x17/8"
(250 pieces)

_'>
= B)
oli7Z

FST-066

HARDWARE | BOLTS

Flat Carriage Bolt 1/4" 20 x 2 1/2"
(1,000 pieces)

AN

)

v,
A

-
==
O

FST-069

HARDWARE | BOLTS

Track Bolt Slotted 1/4" 20 x 5/8"
(250 pieces)

_.>
E< B)
oll|7Z

FST-064

HARDWARE | BOLTS

Flat Carriage Bolt 1/4" 20 x 2 1/4"
(1,000 pieces)

_.>
E< B)
oll|7Z

FST-067

HARDWARE | BOLTS

Flat Carriage Bolt 1/4" 20 x 2 1/2"
(250 pieces)

_.>
E< B)
oll|7Z

FST-070

HARDWARE | BOLTS

Track Bolt Slotted 1/4" 20 x 1"
(1,000 pieces)

PAGE 57

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - FASTENER

ITHP! ITHP! ITHP!

FST-071 FST-079 FST-080
HARDWARE | BOLTS HARDWARE | NUTS HARDWARE | NUTS
Track Bolt Slotted 1/4" 20 x 1" Hex Nut 1/4"-20 (1,000 pieces) Hex Nut 1/4"-20 (250 pieces)

(250 pieces)

ITHP! ITHP! ITHP!

FST-081 FST-082 FST-083
HARDWARE | NUTS HARDWARE | NUTS HARDWARE | NUTS
Hex Nut 5/16"-18 (1,000 pieces) Hex Nut 5/16"-18 (250 pieces) Hex Nut 3/8"-16 (1,000 pieces)

ITRP/ ITRP/ IThP|

"i-é;_":;i. " A| ﬁ‘ ;:4 ‘ ’ ’

FST-084 FST-085 FST-086
HARDWARE | NUTS HARDWARE | NUTS HARDWARE | NUTS
Hex Nut 3/8"-16 (250 pieces) Serrated Flange Nut 1/4"-20 Serrated Flange Nut 1/4"-20

(1,000 pieces) (250 pieces)

PAGE 58 WWW.TITANHOMEPRODUCTS.COM



FST-087

HARDWARE | NUTS

Serrated Flange Nut 5/16"-18
(1,000 pieces)

A

=q
O

HARDWARE - FASTENER

FST-088

HARDWARE | NUTS

Serrated Flange Nut 5/16"-18
(250 pieces)

FST-090

HARDWARE | NUTS

Serrated Flange Nut 3/8"-16
(250 pieces)

_|>
== B
ol|7Z

I
—8

FST-093

HARDWARE | NUTS

Keps Nut Lock Washer & Nut 5/16"-18
(1,000 pieces)

FST-091

HARDWARE | NUTS

Keps Nut Lock Washer & Nut 1/4"-20
(1,000 pieces)

[THP!

H

O

FST-094

HARDWARE | NUTS

Keps Nut Lock Washer & Nut 5/16"-18
(250 pieces)

FST-089

HARDWARE | NUTS

Serrated Flange Nut 3/8"-16
(1,000 pieces)

_'>
== B
ofl|7Z

I
—8

FST-092

HARDWARE | NUTS

Keps Nut Lock Washer & Nut 1/4"-20
(250 pieces)

_'>
== B
ofl|7Z

I
—8

a&r\\

FST-052

HARDWARE | PINS
Cotter Pin 3/32" x 1" (100 pieces)

PAGE 59

WWW.TITANHOMEPRODUCTS.COM



AN

)

v,
A

THP!
L
-
FST-053

HARDWARE | PINS
Clevis Pin 5/16" x 1" (100 pieces)

AN

)

v,
A

-
==
O

T

e

FST-003

HARDWARE | SCREWS

Type AB 7/16 Sheet Metal Screw
Indented Hex Washer Head.1/4" x 3/4"
(250 pieces)

AN

)

v,
A

-
==
O

FST-006

HARDWARE | SCREWS
7/16" Head Self Drill & Tap Tek Screw
Indented Hex Washer Head.1/4"-20 x
5/8" (#2 PT) (250 pieces)

HARDWARE - FASTENER

AN

)

v,
A

FST-001

HARDWARE | SCREWS
Type AB 7/16 Sheet Metal Screw
Indented Hex Washer Head.1/4" x 3/4"
(1,000 Pieces)

AN

)

v,
A

-
==
O

5 TN

™

FST-004

HARDWARE | SCREWS
1/4" Head Self Drill & Tap Tek Screw
Indented Hex Washer Head.8-18 x
3/4" (#2 PT) (250 pieces)

ITHP!

FST-007

HARDWARE | SCREWS
7/16" Head Self Drill & Tap Tek Screw
Indented Hex Washer Head.1/4"-20 x
3/4" (#2 PT) (1,000 pieces)

AN

)

v,
A

-
==
O

FST-002

HARDWARE | SCREWS

Type AB 7/16 Sheet Metal Screw
Indented Hex Washer Head.1/4" x 3/4"
(250 pieces)

_.>
E< B)
oll|7Z

FST-005

HARDWARE | SCREWS
7/16" Head Self Drill & Tap Tek Screw
Indented Hex Washer Head.1/4"-20 x
5/8" (#2 PT) (1,000 pieces)

_.>
E< B)
oll|7Z

FST-008

HARDWARE | SCREWS
7/16" Head Self Drill & Tap Tek Screw
Indented Hex Washer Head.1/4"-20 x
3/4" (#2 PT) (250 pieces)

PAGE 60

WWW.TITANHOMEPRODUCTS.COM



_|>
== E)
Ol|’%

FST-009

HARDWARE | SCREWS
7/16" Head Self Drill & Tap Tek Screw
Indented Hex Washer Head.1/4" 20 x
1" (#2 PT)-1,000 pieces)

ITHP!

FST-012

HARDWARE | SCREWS
7/16" Head Self Drill & Tap Tek Screw
Indented Hex Washer Head.1/4" 20 x
1" (#3 PT)-1,000 pieces)

ITHP!

FST-015

HARDWARE | SCREWS

7/16" Head Self Drill & Tap Tek Screw
Indented Hex Washer Head.5/16" 12 x

1" (#4 PT)-250 pieces)

HARDWARE - FASTENER

A

)

7
A

FST-010

HARDWARE | SCREWS
7/16" Head Self Drill & Tap Tek Screw
Indented Hex Washer Head.1/4" 20 x
1" (#2 PT)-250 pieces)

ITHP!

FST-013

HARDWARE | SCREWS
7/16" Head Self Drill & Tap Tek Screw
Indented Hex Washer Head.1/4" 20 x
1" (#3 PT)-250 pieces)

ITHP!

FST-016

HARDWARE | SCREWS

Regular Profile Lag Screw 7/16" Hex
Washer.5/16" x 1 5/8" (1,000 pieces)

_|>
F= B
ol|7Z

FST-011

HARDWARE | SCREWS
7/16" Head Self Drill & Tap Tek Screw
Indented Hex Washer Head.1/4" 20 x
1" (#3 PT)-2,500 pieces)

_|>
F= B
ol|7Z

FST-014

HARDWARE | SCREWS
7/16" Head Self Drill & Tap Tek Screw
Indented Hex Washer Head.5/16" 12 x
1" (#4 PT)-1,000 pieces)

_|>
F= B
ol|7Z

FST-017

HARDWARE | SCREWS

Regular Profile Lag Screw 7/16" Hex
Washer.5/16" x 1 5/8" (250 pieces)

PAGE 61

WWW.TITANHOMEPRODUCTS.COM



»
7

FST-018

HARDWARE | SCREWS

Regular Profile Lag Screw 7/16" Hex
Washer.5/16" x 1 3/4" (1,000 pieces)

= ffl \\
=>
Ofl/4

FST-021

HARDWARE | SCREWS

Regular Profile Lag Screw 7/16" Hex
Washer.5/16" x 2" (250 pieces)

ITAP|
'/’5"'"'1.' 'Q:q'
0,%’ 4 " 14#
o S IR
ﬂ‘@%
FST-024

HARDWARE | SCREWS

Regular Profile Lag Screw 7/16" Hex
Washer.5/16" x 3" (500 pieces)

FST-019

HARDWARE | SCREWS

Regular Profile Lag Screw 7/16" Hex
Washer.5/16" x 1 3/4" (250 pieces)

FST-022

HARDWARE | SCREWS

Regular Profile Lag Screw 7/16" Hex
Washer.5/16" x 21/2" (1,000 pieces)

FST-025

HARDWARE | SCREWS

Regular Profile Lag Screw 7/16" Hex
Washer.5/16" x 3" (250 pieces)

HARDWARE - FASTENER

-
==
O

»
7

o/

(B

&4

R

g

f . ‘i f
-]

FST-020

HARDWARE | SCREWS

Regular Profile Lag Screw 7/16" Hex
Washer.5/16" x 2" (1,000 pieces)

= ffl \\
:|:>
<l

'./'ﬂ'e"i, /
G ey

Sy
e,
Vi

FST-023

HARDWARE | SCREWS

Regular Profile Lag Screw 7/16" Hex
Washer.5/16" x 2 1/2" (250 pieces)

= ffl \\
:|:>
<l

FST-026

HARDWARE | SCREWS

Regular Profile Lag Screw 7/16" Hex
Washer.1/4" x1" (1,000 pieces)

PAGE 62

WWW.TITANHOMEPRODUCTS.COM



FST-027

HARDWARE | SCREWS

Regular Profile Lag Screw 7/16" Hex
Washer.1/4" x1" (250 pieces)

A0

b

FST-030

HARDWARE | SCREWS

High Profile Lag Screw 7/16" Hex
Washer.5/16" x 1 3/4" (1,000 pieces)

A0

b

FST-033

HARDWARE | SCREWS

High Profile Lag Screw 7/16" Hex
Washer.5/16" x 2" (250 pieces)

HARDWARE - FASTENER

S et

FST-028

HARDWARE | SCREWS

High Profile Lag Screw 7/16" Hex
Washer.5/16" x 1 5/8" (1,000 pieces)

A0

b

FST-031

HARDWARE | SCREWS

High Profile Lag Screw 7/16" Hex
Washer.5/16" x 1 3/4" (250 pieces)

b

FST-034

HARDWARE | SCREWS

High Profile Lag Screw 7/16" Hex
Washer.5/16" x 21/2" (1,000 pieces)

S et

FST-029

HARDWARE | SCREWS

High Profile Lag Screw 7/16" Hex
Washer.5/16" x 1 5/8" (250 pieces)

A0

b

FST-032

HARDWARE | SCREWS

High Profile Lag Screw 7/16" Hex
Washer.5/16" x 2" (1,000 pieces)

A0

b

FST-035

HARDWARE | SCREWS

High Profile Lag Screw 7/16" Hex
Washer.5/16" x 2 1/2" (250 pieces)

PAGE 63

WWW.TITANHOMEPRODUCTS.COM



—
==
0

FST-036

HARDWARE | SCREWS

High Profile Lag Screw 7/16" Hex
Washer.5/16" x 3" (500 pieces)

_|>
== E)
ol

m
FST-077

HARDWARE | SCREWS
Set Screw Square Head 3/8" x11/4"

_|>
== E)
ol

FST-096

HARDWARE | SCREWS

Tapcon Screw Concrete Hex Head
1/4" x 1 3/4" (100 pieces)

HARDWARE - FASTENER

FST-037

HARDWARE | SCREWS

High Profile Lag Screw 7/16" Hex
Washer.5/16" x 3" (250 pieces)

_|>
=il
Ofl/4

m
FST-078

HARDWARE | SCREWS
Set Screw Square Head 3/8" x1 1/2"

_|>
=il
Ofl/4

FST-097

HARDWARE | SCREWS

Tapcon Screw Concrete Hex Head
1/4"x 21/4" (100 pieces)

—
==
0

FST-076

HARDWARE | SCREWS
Set Screw Square Head 3/8" x1"

4

—
==
0

FST-095

HARDWARE | SCREWS

Tapcon Screw Concrete Hex Head
1/4" x11/4" (100 pieces)

_|>
F= B
ol|7Z

FST-098

HARDWARE | SCREWS

Tapcon Screw Concrete Hex Head
1/4" x 2 3/4" (100 pieces)

PAGE 64

WWW.TITANHOMEPRODUCTS.COM



_|>
== E)
Ol|’%

oy,

-

FST-099

HARDWARE | SCREWS

Tapcon Screw Concrete Hex Head
1/4" x 31/4" (100 pieces)

_|>
== E)
Ol|’%

FST-072

HARDWARE | SLEEVES

Sleeve Anchor 5/16" x11/2" (100
pieces)

_|>
== E)
Ol|’%

dim-
FST-075

HARDWARE | SLEEVES
Sleeve Anchor 3/8" x 4" (50 pieces)

SCR-004

HARDWARE | SCREWS

1/4" x 1/2" Pan Head Sheet Metal
Screw. Textured Finish.

_|>
=il
Ofl/4

FST-073

HARDWARE | SLEEVES

Sleeve Anchor 3/8"x17/8"
(100 pieces)

_|>
=il
Ofl/4

FST-054

HARDWARE | WASHERS

Flat Washer 5/16" Inside Opening
(1,000 pieces)

HARDWARE - FASTENER

_|>
F= B
ol|7Z

SCR-005

HARDWARE | SCREWS

#8 x 1" Oval Sheet Metal Screw
(Phillips)

_|>
F= B
ol|7Z

=

FST-074

HARDWARE | SLEEVES
Sleeve Anchor 3/8" x 3" (50 pieces)

ITHR!
—
FST-055

HARDWARE | WASHERS

Flat Washer 5/16" Inside Opening
(250 pieces)

PAGE 65

WWW.TITANHOMEPRODUCTS.COM



ITHP!
S
FST-056

HARDWARE | WASHERS

Flat Washer 3/8" Inside Opening
(1,000 pieces)

ITHP!
o
e
FST-057

HARDWARE | WASHERS

Flat Washer 3/8" Inside Opening
(250 pieces)

HARDWARE - FASTENER

PAGE 66

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - FORK AND PULLEYS

ITHP! ITHP! ITHP!

QHG-076 QHG-077 QHG-0778B
HARDWARE | FORK HARDWARE | FORK HARDWARE | FORK
3" Fork. 14 Gauge 3" Fork. 14 Gauge 3' Restraint Fork. 14 Gauge with Nylon
Bushing
ITRP/ ITRP/ IThP|

®
QHG-063 QHG-064 QHG-065
HARDWARE | PULLEY HARDWARE | PULLEY HARDWARE | PULLEY
.5/8"x113/16" S-Hook, #8 1/4"x21/2" S-Hook 5" Cast Pulley - 5/8" Bore. Removable
Stud. 400 lbs at 35,000 12' cycles.
ITHP! ITHP! ITHP!

QHG-066 QHG-067 QHG-068
HARDWARE | PULLEY HARDWARE | PULLEY HARDWARE | PULLEY
4" Clevis Pulley 4" Pulley - 3/8" Bore. 200 lbs at 4" Stud Pulley. Fixed Stud.
35,000 12' cycles. No nuts. 200 lbs at 35,000 12' cycles.

PAGE 67 WWW.TITANHOMEPRODUCTS.COM



HARDWARE - FORKS AND PULLEYS

—
==
0

I

QHG-069 QHG-070 QHG-071
HARDWARE | PULLEY HARDWARE | PULLEY HARDWARE | PULLEY
3" Heavy Wall Clevis Pulley 3" Heavy Wall Pulley - 3/8" Bore. 3" Cast Pulley with Precision
200 lbs at 10,000 8' cycles. Bearings. 400 lbs at 10,000 8' cycles.
[THP [THP [THP

QHG-072 QHG-073 QHG-074
HARDWARE | PULLEY HARDWARE | PULLEY HARDWARE | PULLEY
3" Clevis Pulley 3" Pulley - 3/8" Bore. 100lbs. 10,000 Tandem Hookup Kit.

8' cycles Max Spring OD 2 3/8". Incudes 8

plates, nuts and bots.

PAGE 68 WWW.TITANHOMEPRODUCTS.COM



THP INC - PRODUCT CATALOG

HARDWAR
KITS

Each Complete Hardware Kit Comes Com
drums and fasteners. We carry standard

we can upgrade all components as neede
available, as are completely customized k

PAGE 69




HARDWARE - HINGES

HNG-11-001 HNG-11-002 HNG-11-003
HARDWARE | HINGES HARDWARE | HINGES HARDWARE | HINGES
#111 GA Hinge #2 11 GA Hinge #3 11 GA Hinge

HNG-11-004 HNG-11-005 HNG-11-006
HARDWARE | HINGES HARDWARE | HINGES HARDWARE | HINGES
#411 GA Hinge #511 GA Hinge #6 11 GA Hinge

PIANY

THP

=c
O

HNG-11-007 HNG-11-008 HNG-11-009
HARDWARE | HINGES HARDWARE | HINGES HARDWARE | HINGES
#7 11 GA Hinge #8 11 GA Hinge #9 11 GA Hinge

PAGE 70 WWW.TITANHOMEPRODUCTS.COM



HNG-11-010

HARDWARE | HINGES
#10 11 GA Hinge

HNG-14-001

HARDWARE | HINGES
#114 GA Hinge

HNG-14-001-BPC

HARDWARE | HINGES

#3 14 GA Hinge | Black Powder
Coated

HARDWARE - HINGES

HNG-11-011 HNG-11-012
HARDWARE | HINGES HARDWARE | HINGES
#1111 GA Hinge #1211 GA Hinge

'I:H;’ THP

HNG-14-001-BPC HNG-14-001-BPC
HARDWARE | HINGES HARDWARE | HINGES
#1 14 GA Hinge | Black Powder Coated #2 14 GA Hinge | Black Powder Coated

HNG-14-001-BPC HNG-14-002
HARDWARE | HINGES HARDWARE | HINGES
#4 14 GA Hinge | Black Powder #2 14 GA Hinge
Coated

PAGE 71

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - HINGES

SKHNG-14-003

HARDWARE | HINGES
#3 14 GA Hinge

HNG-14-004

HARDWARE | HINGES

#4 14 GA Hinge

HNG-14-005

HARDWARE | HINGES
#5 14 GA Hinge

HNG-14-006

HARDWARE | HINGES
#6 14 GA Hinge

_|>
e B
o|l7Z

I

_HRH_°

HNG-16-001-BLK

HARDWARE | HINGES

16" Colonial Hinge Black. Crinkle
Finish. Fastner not included.

HNG-14-007

HARDWARE | HINGES
14 GA 1/2 Hinge | Narrow Rail

_|>
e B
o|l7Z

I

R % 1.t

HNG-16-001-BLK

HARDWARE | HINGES

16" Spear Hinge - Black. Includes
Fasteners.

HNG-16-001

HARDWARE | HINGES
#116 GA Hinge

_|>
==
O|l%%

I

RS o)

HNG-16-001-Cl

HARDWARE | HINGES

16" Colonial Cast Iron Hinge. .25"
thick.Fasteners not included.

PAGE 72

WWW.TITANHOMEPRODUCTS.COM



_‘>
B
Oll7Z

(R 2 ()

HNG-16-001-CI

HARDWARE | HINGES
16" Fleur De Lis Cast Iron Hinge -
Black. .25" thick. Fasteners not
included.

HNG-16-003

HARDWARE | HINGES
#316 GA Hinge

_|>
e B
o|l7Z

B T TTNPT S

HNG-18-001-BLK

HARDWARE | HINGES
18" Spear Hinge - Black. Stamped
Steel. Crinkle Finish. Fasteners
Included.

HARDWARE | HINGES

16" Spear Cast Iron Hinge - Black, .25"
thick. Fasteners not included.

HARDWARE - HINGES

ITHP! ITHP!

(R 2 ()

HNG-16-001-CI HNG-16-002

HARDWARE | HINGES
#2116 GA Hinge

ITHP! ITHP!

HNG-16-004 HNG-18-001

HARDWARE | HINGES
#118 GA Hinge

HARDWARE | HINGES
#416 GA Hinge

ITHP! ITHP!

HNG-18-002 HNG-18-003

HARDWARE | HINGES
#3118 GA Hinge

HARDWARE | HINGES
#2118 GA Hinge

PAGE 73

WWW.TITANHOMEPRODUCTS.COM



HNG-18-004

HARDWARE | HINGES
#4 18 GA Hinge

_|>
== E)
Ol|’%

i

MHN-002

HARDWARE | HINGES

8" Flexible Magnetic Handle Set. Flush
Mount.

&
® -
\ *\
QHG-11-001

HARDWARE | HINGES
#1 11 GA Quite Hinge

HNG-20-001-BLK

HARDWARE | HINGES
24" Soear Hinge - Black. Stamped
Steel. Crinkle Finish. Fasteners
Included.

i

—
==
0

AT e—

MHN-004

HARDWARE | HINGES
16" Magnetic Spade Hinge

THP!
“\\)
QHG-11-002

HARDWARE | HINGES
#2 11 GA Quite Hinge

HARDWARE - HINGES

)

—
==
0

)
7

R T

MHN-001

HARDWARE | HINGES
18" Flexible Magnetic Hinge Set

_|>
F= B
ol|7Z

MHN-005

HARDWARE | HINGES

18" Magnetic Mission Hinge

ITHR!
“\1&
TR
QHG-11-003

HARDWARE | HINGES
#3 11 GA Quite Hinge

PAGE 74

WWW.TITANHOMEPRODUCTS.COM



ol
“v’
P
QHG-11-004

HARDWARE | HINGES
#4 11 GA Quite Hinge

]Am

HP

QHG-11-007

HARDWARE | HINGES
#7 11 GA Quite Hinge

[THP!

HP

QHG-14-001

HARDWARE | QUIET

HINGE KITS

#1 14 GA Quiet Hinge Silencer sleeve
and push nut not included.

HARDWARE - HINGES

QHG-11-005

HARDWARE | HINGES
#511 GA Quite Hinge

QHG-11-008

HARDWARE | HINGES
#8 11 GA Quite Hinge

ITHP!
“v‘
R
QHG-14-002
HARDWARE | QUIET
HINGE KITS

#2 14 GA Quiet Hinge Silencer sleeve
and push nut not included.

QHG-11-006

HARDWARE | HINGES
#6 11 GA Quite Hinge

QHG-11-009

HARDWARE | HINGES
#9 11 GA Quite Hinge

AN
ITHP!
e
R
QHG-14-003
HARDWARE | QUIET
HINGE KITS

#3 14 GA Quiet Hinge Silencer sleeve
and push nut not included.

PAGE 75

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - HINGES

ITHP! ITHP! ITHP!

QHG-14-004 QHG-14-005 QsL-001
HARDWARE | QUIET HARDWARE | QUIET HARDWARE | QUIET
HINGE KITS HINGEKITS HINGE KITS
#4 14 GA Quiet Hinge Silencer sleeve #5 14 GA Quiet Hinge Silencer sleeve Silencer Sleeve in 50 packs with
and push nut not included. and push nut not included. Push Nut. Use with Quiet Hinges only.
[THP

HST-001

HARDWARE | HINGE
SETS

One Plece Door Hinge Set. Springs
and hardware not included.

PAGE 76 WWW.TITANHOMEPRODUCTS.COM



PPN

ALT-001

HARDWARE | LOCKS

Auto Latch

[THP!

HP

ELK-001

HARDWARE | LOCKS

End Style Lock for 2" and 3" track.
Right hand.

[THP!

HP

KTH-001

HARDWARE | LOCKS

Keyed T Handle. Includes push nut
and 2 keys. 1 3/8" - 2" thick doors.
Fasteners not included.

HARDWARE - LOCKS

PPN

CYL-001

HARDWARE | LOCKS

Replacement Cylinder. Includes: 5 pin
tumbler cylinder, fasteners and 2
keys. Up to 4" thick door.

21 IS

ITAP|

KAL-001

HARDWARE | LOCKS
Keyed Alike Disconnect. Includes:
mounting hardware, 3' of cable and 2
keys, keyed randomly

21 IS

ITAP|
<& (s %5 @
OLK-001

HARDWARE | LOCKS

Outside Lock Handle with keys. 1 3/8"
- 2" thick doors.

ITHP!
@~
.y =
4 N
~"\ -—
@
oy
DBL-001

HARDWARE | LOCKS

Die Cast Dead Bolt Lock Set. Includes:
dead bolt, 5 pin tumbler cylinder,
fasteners and 2 keys

[THP!

HP

KOD-001

HARDWARE | LOCKS

Keyed Outside Disconnect. Includes:
mounting hardware, 3' of cable and 2
keys, keyed randomly

21 IS

ITAP|

’/

SLK-001

HARDWARE | LOCKS

Residential 2" Slide Lock. 2" tracks
only.

PAGE 77

WWW.TITANHOMEPRODUCTS.COM



A0

—
==
0

SLK-002

HARDWARE | LOCKS

Universal Slide Lock for 2" and 3"
Track - Black Powder Coated. 2"
tracks only.

b

HP

SLS-002

HARDWARE | LOCKS

Spring Latch Set with Sash Chain Keyed
Alike. Includes: fasteners, spring latches
and plates, 18 ft of sash chain, S-hooks,
inside release handle, outside T-handle
with 2 keys

HARDWARE - LOCKS

ITHP!
P—
| s7gvor
SLK-003

HARDWARE | LOCKS

Universal Slide Lock for 2" and 3"
Track - Uncoated

A0

W_

SLS-003

HARDWARE | LOCKS

Spring Latch Set with Cable, Includes:
fasteners, spring latches and plates, (2)
pieces of cable 9' 4", fiberglass
reinforced nylon inside release handle,
outside T-handle with 2 keys

SLS-001

HARDWARE | LOCKS

Spring Latch Set with Sash Chain. Includes:
fasteners, spring latches and plates, 18 ft of sash
chain, S-hooks,

inside release handle, outside T-handle with 2
keys

o

20

THN-001

HARDWARE | LOCKS

Dummy T Handle Set. Includes: inside
and outside mounting handles,
mounting hardware and fasteners. Up
to 2" thick door.

PAGE 78

WWW.TITANHOMEPRODUCTS.COM



e .
g/ &5/

»
ASA-001
HARDWARE |

ADJUSTABLE ARM

Adjustable Spreader Arm - 1" Shaft
w/2 shaft collars.

AARNRN
S

ITRP

QHG-080

HARDWARE | CLIP
Cable Adjustment Clip

FUL-001

HARDWARE | FUSIBLE

LINK
1652 Fusible Link 1 - 30lb Load

e .
g/ &5/

»
ASA-002
HARDWARE |

ADJUSTABLE ARM

Adjustable Spreader Arm -11/4"
Shaft w/2 shaft collars.

AARNRN
S

ITRP

DRT-001

HARDWARE | DOOR
RATCHET

Section Saver Door Ratchet

AARNRN
S

TP

FUL-002

HARDWARE | FUSIBLE

LINK
16592 Fusible Link 1 - 10lb Load

HARDWARE - MISCELLANEOUS

STC-001

HARDWARE | CLIP
Strut Clip

QHG-078

HARDWARE | EYE BOLT
5/16" x 3 1/2" Open Eye Bolt

NRP-001

HARDWARE | ROPE
1/4" Nylon Pull Rope - 500 ft

PAGE 79

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - MISCELLANEOUS

_Tr
| B
O
_|I
= B
lli7
_|I
=c
O

SCH-002 QHG-101 QHG-102
HARDWARE | SASH HARDWARE | SPRING HARDWARE | SPRING
CHAIN FILLER FILLER
Sash Chain, #8 - 5'L PVC Spring Filler 75/8" - 12'L, Fits 7 PVC Spring Filler 75/8" per inch $0.70,
5/8" inside diameter only Fits 7 5/8" inside diameter only
o o o
ITHP! ITHP! ITHP!

QHG-103 QHG-104 QHG-105
HARDWARE | SPRING HARDWARE | SPRING HARDWARE | SPRING
FILLER FILLER FILLER
PVC Spring Filler - 12'L, Fits 5 1/4" - 6" PVC Spring Filler - 8'L, Fits 51/4" - 6" PVC Spring Filler, Fits 51/4" - 6"
inside diameter inside diameter inside diameter

PAGE 80 WWW.TITANHOMEPRODUCTS.COM



)
»
7

-
==
O

HCR-001

HARDWARE | ROLLERS

2" 6200 Shielded Precision Bearing
Nylon Roller - 4" Stem

= ffl \\
=>
Ofl/4

qm——

ROL-211-001

HARDWARE | ROLLERS
2" Nylon Roller - 4" Stem (no bearing)

= ffl \\
=>
Ofl/4

ROL-213-001

HARDWARE | ROLLERS
2" 13-Ball Nylon Roller - 4" Stem

S
_ .,-,u# l
e
HCR-002

HARDWARE | ROLLERS

2" 6200 Shielded Precision Bearing
Nylon Roller - 7" Stem

[THP!
ROL-211-002

HARDWARE | ROLLERS
2" 11-Ball Nylon Roller - 4" Stem

ROL-213-002

HARDWARE | ROLLERS
2" 13-Ball Nylon Roller - 5" Stem

HARDWARE - ROLLERS

[THP!
B ]
HCR-003

HARDWARE | ROLLERS

2" 6200 Shielded Precision Bearing
Nylon Roller - 9" Stem

ITRP]
y
) &

HARDWARE | ROLLERS
2" 11-Ball Nylon Roller - 7" Stem

= ffl \\
:|:>
<l

ROL-213-003

HARDWARE | ROLLERS
2" 13-Ball Nylon Roller - 7" Stem

PAGE 81

WWW.TITANHOMEPRODUCTS.COM



A

)
7

—
==
0

|
¢

ROL-213-004

HARDWARE | ROLLERS

2" 13-Ball Capped Nylon Roller -
4" Stem

_|>
== E)
Ol|’%

SNR-002

HARDWARE | ROLLERS

3" Sealed Nylon Roller - 71/4" Stem |
Precision Bearing

_|>
== E)
Ol|’%

—\Q

SRL-210-002

HARDWARE | ROLLERS
2" 10-Ball Steel Roller - 7" Stem

HARDWARE - ROLLERS

ITHR!
. Py
ROL-213-005

HARDWARE | ROLLERS

2" 13-Ball Capped Nylon Roller -
7" Stem

_|>
=il
Ofl/4

e
-

SNR-003

HARDWARE | ROLLERS

3" Sealed Nylon Roller - 9" Stem |
Precision Bearing

_|>
=il
Ofl/4

—

SRL-210-003

HARDWARE | ROLLERS
2" 10-Ball Steel Roller - 10" Stem

)

)
7

—
==
0

—&

SNR-001

HARDWARE | ROLLERS
2" Sealed Nylon Rolled - 7" Stem

)

)

v,
A

ITHP!
@‘\
}

HARDWARE | ROLLERS
2" 10-Ball Steel Roller - 4" Stem

_|>
F= B
ol|7Z

SRL-27-001

HARDWARE | ROLLERS
2" 7-Ball Steel Roller - 4" Stem

PAGE 82

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - ROLLERS

)
)

I
I

=
= B
ll?

/ /‘@

SRL-310-001 SRL-310-002 SRL-310-003

HARDWARE | ROLLERS HARDWARE | ROLLERS HARDWARE | ROLLERS
3" 10-Ball Steel Roller - 4" Stem 3" 10-Ball Steel Roller - 7" Stem 3" 10-Ball Steel Roller - 9" Stem

PPN

=
e

HP
SRL-310-004

HARDWARE | ROLLERS
3" 10-Ball Steel Roller - 11" Stem

PAGE 83 WWW.TITANHOMEPRODUCTS.COM



A

)
7

THP
P
o »
SCL-001

HARDWARE | SHAFT
COLLAR

1" Shaft Collar with Set Screw

_|>
== E)
Ol|’%

ITHP!
T
$
@
SCL-002

HARDWARE | SHAFT
COLLAR

11/4" Shaft Collar with Set Screw

ITHP!

SCL-004

HARDWARE | SHAFT

COLLAR
11/4" Split Shaft Collar

PN
&
&

HARDWARE | SHAFT
COUPLER

1" Shaft Coupler - Not Adjustable.

1/4" keyway, 4 3/4" L

SCO-001

HARDWARE | SHAFT

COUPLER
1" Shaft Coupler - Adjustable. 1/4"
keyway.

ITHP!

SCO0-004

HARDWARE | SHAFT

COUPLER

11/4" Shaft Coupler - Not Adjustable.
1/4" keyway, 4 3/4" L

HARDWARE - SHAFTS

)

—
==
0

)
7

SCL-003

HARDWARE | SHAFT

COLLAR
1" Split Shaft Collar

SC0-002

HARDWARE | SHAFT

COUPLER
11/4" Shaft Coupler - Adjustable. 1/4"
keyway.

ITHP!

SKY-001

HARDWARE | SHAFT KEY

Bent Shaft Key. 1/4" x1/4" x 3". 30"
bend. 3/4" L

PAGE 84

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - SHAFTS

[THP [THP [THP
SKY-002 SFT-001 SFT-002
HARDWARE | SHAFT KEY HARDWARE | SHAFTS HARDWARE | SHAFTS
Straight Shaft Key. 1/4" x 1/4" x 3" 1" Galvanized Tube Shaft. 8'10", 16 1" Tube Shaft
Gauge Galvanized. 9'10", 16 Gauge
ITRP/ ITRP/ IThP|

SFT-003 SFT-004 SFT-005
HARDWARE | SHAFTS HARDWARE | SHAFTS HARDWARE | SHAFTS
1" Tube Shaft 1" Tube Shaft 1" Tube Shaft
Galvanized. 10'10", 16 Gauge Galvanized. 12'10", 16 Gauge Galvanized. 14'10", 16 Gauge
[THP [THP [THP

«
\
—_—
SFT-006 SFT-007 SSFT-001
HARDWARE | SHAFTS HARDWARE | SHAFTS HARDWARE | SHAFTS
1" Tube Shaft 1" Tube Shaft 1" Zinc Plated Solid Shaft. 6'6", Keyed

Galvanized. 16'10", 14 GA Galvanized. 18'10", 14 GA Full

PAGE 85 WWW.TITANHOMEPRODUCTS.COM



SSFT-002

HARDWARE | SHAFTS

1" Zinc Plated Solid Shaft. 7'6", Keyed
Full

SSFT-005

HARDWARE | SHAFTS

1" Zinc Plated Solid Shaft. 10'6",
Keyed Full

AARNRN
S

ITHP|

SSFT-008

HARDWARE | SHAFTS

1" Zinc Plated Solid Shaft. 13'6",
Keyed Full

SSFT-003

HARDWARE | SHAFTS

1" Zinc Plated Solid Shaft. 8'6", Keyed
Full

SSFT-006

HARDWARE | SHAFTS

1" Zinc Plated Solid Shaft. 11'6",
Keyed Full

AARNRN
S

ITHP|

SSFT-009

HARDWARE | SHAFTS

1" Zinc Plated Solid Shaft. 19", Keyed
Full

HARDWARE - SHAFTS

SSFT-004

HARDWARE | SHAFTS

1" Zinc Plated Solid Shaft. 9'6", Keyed
Full

SSFT-007

HARDWARE | SHAFTS

1" Zinc Plated Solid Shaft. 12'6",
Keyed Full

AARNRN
S

ITHP|

SSFT-010

HARDWARE | SHAFTS
11/4" Zinc Plated Solid Shaft. 13'6"

PAGE 86

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - SHAFTS

J—
)
)
v,

—
==
0

SSFT-011

HARDWARE | SHAFTS
11/4" Zinc Plated Solid Shaft. 19"

PAGE 87 WWW.TITANHOMEPRODUCTS.COM



HARDWARE - STRUTS

STR-001

HARDWARE | STRUTS
21/4" Galvanized Strut. 8', 22 GA

_|>
e B
o|l7Z

I

STR-004

HARDWARE | STRUTS
21/4" Galvanized Strut. 12', 22 GA

_|>
e B
o|l7Z

I

STR-007

HARDWARE | STRUTS
21/4" Galvanized Strut. 18', 22 GA

STR-002

HARDWARE | STRUTS
2 1/4" Galvanized Strut. 9', 22 GA

STR-005

HARDWARE | STRUTS
21/4" Galvanized Strut. 14', 22 GA

STR-008

HARDWARE | STRUTS
2 1/4" Galvanized Strut. 8', 25 GA

STR-003

HARDWARE | STRUTS
2 1/4" Galvanized Strut. 10', 22 GA

_|>
==
O|l%%

I

STR-006

HARDWARE | STRUTS
21/4" Galvanized Strut. 16', 22 GA

_|>
==
O|l%%

I

STR-009

HARDWARE | STRUTS
21/4" Galvanized Strut. 9', 25 GA

PAGE 88

WWW.TITANHOMEPRODUCTS.COM



_|>
e B
o|l7Z

I

STR-010

HARDWARE | STRUTS
21/4" Galvanized Strut. 10', 25 GA

_|>
e B
o|l7Z

I

STR-013

HARDWARE | STRUTS
21/4" Galvanized Strut. 16', 25 GA

_|>
e B
o|l7Z

I

STR-016

HARDWARE | STRUTS
3" Galvanized Strut. 16', 20 GA Strut

_|>
e B
o|l7Z

I

STR-011

HARDWARE | STRUTS
21/4" Galvanized Strut. 12', 25 GA

_|>
e B
o|l7Z

I

STR-014

HARDWARE | STRUTS
2 1/4" Galvanized Strut. 18', 25 GA

_|>
e B
o|l7Z

I

STR-017

HARDWARE | STRUTS
3" Galvanized Strut. 18', 20 GA Strut

HARDWARE - STRUTS

_|>
==
O|l%%

I

STR-012

HARDWARE | STRUTS
21/4" Galvanized Strut. 14', 25 GA

_|>
==
O|l%%

I

STR-015

HARDWARE | STRUTS
3" Galvanized Strut. 9', 20 GA Strut

_|>
==
O|l%%

I

STR-018

HARDWARE | STRUTS
3" Galvanized Strut. 20', 20 GA Strut

PAGE 89

WWW.TITANHOMEPRODUCTS.COM



HARDWARE - STRUTS

STR-019

HARDWARE | STRUTS
3" Galvanized Strut. 24', 20 GA Strut

PAGE 90 WWW.TITANHOMEPRODUCTS.COM



HARDWARE - TRACKS

TRK-001 TRK-002 TRK-003
HARDWARE | HARDWARE | HARDWARE |
HORIZONTAL TRACK HORIZONTAL TRACK HORIZONTAL TRACK

2" Horizontal Punched Track, 12"
Radius. 8'6" L, 22" Angle. 14 GA

2" Horizontal Punched Track, 12"

Radius. 9' 6" L, 22" Angle. 14 GA

2" Horizontal Punched Track, 12"
Radius. 8' 6" L, 82" Angle. 14 GA

TRK-004 TRK-005 TRK-006
HARDWARE | HARDWARE | HARDWARE |
HORIZONTAL TRACK HORIZONTAL TRACK HORIZONTAL TRACK

2" Horizontal Punched Track, 12"
Radius.9'6" L, 82" Angle. 14 GA

2" Horizontal Punched Track, 15"

Radius. 8' 6" L, 82" Angle. 14 GA

2" Horizontal Punched Track, 15"
Radius. 9' 6" L, 82" Angle. 14 GA

TRK-007 TRK-008 TRK-009
HARDWARE | HARDWARE | HARDWARE | VERTICAL
HORIZONTAL TRACK HORIZONTAL TRACK TRACK

2" Horizontal Low Headroom Punched 2" Horizontal Low Headrom Punched Track, 2" Vertical Track Punched. 76" L,
Track, 15" Radius. 8' 6" L, 82" Angle, 3 1/2" 12" Radius. 9' 6" L, 82" Angle, 31/2" LH, 18 GA
LH.14 GA 14 GA

PAGE 91 WWW.TITANHOMEPRODUCTS.COM




HARDWARE - TRACKS

b b b

TRK-010 TRK-011 TRK-012

HARDWARE | VERTICAL HARDWARE | VERTICAL HARDWARE | VERTICAL
TRACK TRACK TRACK

2" Vertical Track Punched. 88" L, 2" Raw Track.13'4" L, 15 GA, 2" Raw Track. 13'4" L, 13 GA, Up to 14'
18 GA Upto14'H H

PAGE 92 WWW.TITANHOMEPRODUCTS.COM



Z| W I

THP

ENTERPRISE
CATALOG

Link to Our In-Stock Catalog

THP Inc.
2080 Floyd Street
Burbank, California 91504
818.287.0444

sales@titanhomeproducts.com

www.titanhomeproducts.com





